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Module 1 Pre-Quiz

1. Jaylen had 54 toy blocks. Some were big and others were small. How many
of the 54 blocks might be big and how many might be small? Show how

you know.

Student answers will vary. Many may say that there are 50 big blocks and 4
small blocks. As long as the total amount of blocks equals 54, they are correct.

2. What is 45 + 30? Use the number line to show your answer.
45+30=75
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Module 1 Post-Quiz

1. Martae had 61 ribbons. Some were red and others were blue. How many
ribbons could be red and how many ribbons could be blue? Show how you
know.

Students’ answers will vary but should equal 61 in some combination of
red and blue ribbon. For example, 30 red ribbons + 31 blue ribbons = 61
ribbons.

2. What is 55 + 40? Use the number line to show your answer.
55+40=95
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